1 -1, 0, 1, 2, 3} ol ti5t] x o] Y4 x
S H7|e} Zol -2 uff, o] F X of|A] v 22




@D 174 @ 274 ® 371 @ 474 ® 574



olJ
RS
ol
o8

olig
No

O Do = oo <

el
ol ~
Y

Tod Mo N on <

olo

olJ
U

=
TR

ol

{1, 2, 3, 4} o|t}.
{1, 2, 4} o|t}.

Zrolet,
@ A1, 2, 3, 4 °|th.

=
ez ]
-

[

@
@ A]



H|

TR

-1(0 T



® 3714



fla) + f(b)

a, b ol 5t fa+b)

@ flx)=-x
@ f(x)

@ f(x) = Ix

2x+3

® f(x) =3x =

® f(x)

x5+ 3x



T
=
3
i
<
o
i
o
o
o))
of ™
>N
P
7 -
,mﬁ__om
=
-8
= o
T
RN
-
-
\_,50
oln
<
- E

@ fla)=f(b)olH a=b

@® a=0b°l¥ f(a) = f(b)

® fla)# f(b)olHa+b

@ a+bolH f(a) = f(b)

® a=>bolH fla) # f(b)



= f:X - Y9 adort ot Zoa

Sk
=

8.

ol

JJ

—_
fife)

=
Ni

_———— — ]

® 0,6 ® ©

ORONGE)
ONQ)

® A6,0,



®a=2,b=0

®a=1,b=0

@a=1,b=1

® a=3,b=0

@ a=2b=1



10. A% 749 AR oA R 2] &5

flx

~

-x+k (x<0)

e etk

D 2 ® 3 3 4

_ {x+k (x>0) ) =32



G b 2R



@ 1 G 2

3 0



13, f(x) = 20-3% W, f(/() = F((F(x))
Fotofel,

B
=¥



14.

)

(g o f)(?)) o] 3k Fotofet,

YER
-

¢ﬂ@=ﬁ—&dﬂ={2

oll skl (g0 f)(2) +






x+k oglx) =22 +1°l Hte] fog =gof 7t
k9] 3e Aetoler,



>=3x+2%

7 (2

Foto e,

<}
JoH
o8
I

S}

Slo

3

Al

2~
T

<

o] ool

17.

O
=

A1k, ol £(2) ©f 2

=
=



o)

fofi f"



19. ohE % olo] 44 x of thsfel
flx )_,]lgﬂu_,] Haoz Ao




